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Q1

Q2

Q3
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SECTION-1 | GENERALAPTITUDE TEST | 25 QUESTIONS

A is the brotherof Band sonof Cand D. E

is the husband of B and father of F,

What additional information is required to
answer how C is related to A?

(A) B istheonly daughter of C and D.

(B) Disthe maternal grandfather of F.

(C) Fistheonly grandson of C.

(D) AisthesonofC

In a certain coded language, INCOME is
written as HPENOG How will be SAVING
written as in the same language?

(A) RCVHPG

(B) RXCHIP

(C) RCXHPI

(D) RCXHPG

Ifin a coded language MIND is written as
IMDN, how will be GAME written as in
the same language?

(A) GEMA

(B) MEGA

(C) AGEM

(D) EGAM

Ql

Q2

Q3

ABTIuE talvCalmDaTder 2 E
BauldalwFas Rar &

I O o @ o @ W afeRew
e B smmea &, A CHIAD
Ry T WAy 87

(A) B,Calw D& s 48 &)

(B) D,F& =iri €|

(C) F,C &1 §aitar urar & |

(D) A, C @ der &

s Affaa e wmr #, INCOME &
HPENOG @& wu # fawr wmar 2
SAVING #1 9% g w1 # fre w0 4
forar wmgm?
(A) RCVHPG
(B) RXCHIP
(C) RCXHPI
(D) RCXHPG

afe v@ e W # MIND @) IMDN &
w9 A foran o 8, @ GAME & S¥)
@ W A 5w w9 forn smem?
(A) GEMA

(B) MEGA

(C) AGEM

(D) EGAM
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Q4 Inthe given series, one number is wrong. Q4 H T yua ¥ S wEA Taa £ T

Select the wrong number. Tt w1 |
18, 22, 44, 48, 52, 100, 200 18, 22, 44, 48, 52, 100, 200
(A) 48 g (A) 48
(B) 52 (B) 52
(C) 100 (C) 100
(D) 200 (D) 200
I
Q5  Selectthenumberthatwillcomenextinthe Q5 % W g+ w1 Pr=ifelfan sgaen 4 ‘
following serics. amt ameY | ‘
3,4, 13,38,87,168,7 3,4,13,38,87,168,7 {
(A) 199 (A) 199
(B) 289 (B) 289 ‘
(C) 203 (C) 203
(D) 259 (D) 259
Q6 If XAY implies X7 + Y7 Q6 A XAY®Targd X? +Y’ &
XBY implies X7 ¥? XBY &1 w9l X7~ Y8
XCY implies (X + ¥ )? XCY®ramgd (X + Y) ®
XDY implies (X — ¥ )’ then, XDY @1 T (X - Y) 8, |
Which of the following is TRUE? i Frfafes 4 4 oo wea &7
(A) (7C3)—(6D6) =100 (A) (7C3)-(6D6)=~100
(B) (3C2)D(5B5) =624 (B) (3C2)D(5BS5)=624
(C) (3A2)B(5C4)=88 (C) (3A2)B(5C4)=88
(D) 216D256 =-1600 (D) 216D256=-1600
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Q7

Q8

LM-B

If P + Q means that P is the sister of Q,
P+ means that P is the mother of Q and
P = Q means that P is the brother of Q,
which of the following means A is the aunt

of D?

(Ay A+ ExD
(B) F*A+Ex=D
(C) A+B+CxD

(D) AxE+BxC+D

Select the option that is related to the third
term in the same way as the second term is

related to the first term.

Pressure : Pascal :: Current : 7

(A) Volte
(B) Joule
(C) Watt

(D) Ampere

Q7

Q8

aft P+ Q@ uief B f P, Qo aww &,
P+Q@m yd & f5 PLQ & % & alw

PxQwmad 2 o PQm wid & o
Frefafea 7 @ asrad g 5 A, DA
ard /all /ard / wwt / qan /Wit 22

(A) A+ ExD
(B) FFA+ExD
(C) A+B+CxD

D) AxE+BxC=D

7% RAwe g7 o ey v 9 & 3@
W W 8, R ver gav e TEd
g ¥ vt #

TM : gRed = fagga-am : ?
(A) qee
(B) v

(€) T

(D) Uftqaw
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Q9

Q10

LM-B

Read the given statement and conclusions
carefully and select which of the conclusions
logically follow(s) from the statement.

Statement:

The changing trends in Indian cinema has
witnessed big budget star powered movies
doing poor business and a lot of small budget
content driven movies eaming good business.

Conclusions:

() The low budget movies are huge hits
due to their story content irespective
of the star cast.

(i) The big budget movies are flop at box
office for casting big stars.

{A) Onlyconclusion (i) follows.

(B) Onlyconclusion (ii) follows.

(C) Both, conclusions (i) and (ii) follow,
(D) Neither conclusions (i) nor (i) follow.

Village P is to the east of village Q.
Village R is to the north of village P.
Village S is to the west of village R.
Village S is towards which direction of
village P?

(A) South-east
(B) South-west
(C) North-west
(D) North-cast

Q9

Q1o

faw v weF alv Fred & a9 |/ v
i faftea = 5 &9 w179 Freed

e w9 ¥ T B STE B
t/ww &)

Y.

Hivehg e § aged 9 3 T
T ? e & 5 font (Feen) #
w3 Toie 3 et v FNER FW W
8 iR fyz-awg smofla B Tue A
o oo afdar sEw o w6 #)

forepd:

() ROR (Fawn) @ 99 & afe
WETd | &9 Y e e Wl @
YT BIC @ure ) e amda awa
v E|

() @& FaaRt (Farer) & 995 & TR
T3 Toic o fpe dfew oiffe w
Faha W )

(A) @aet Frsed (i) arqemor svan )

(B) @ae fresd (i) sremor avan &1

(C) =, Premd (i) 3w (ii) sremw &
gl

(D) = o fFresd (i) 51 & (i) arevor S
B

g Pe QP qd # & Wia R, WA P
SR H &) 79 S, Mg RS afdan % 8
i S, e P& v R #t ik 87

(A) =firor — i
(B) =& — ufdem
(C) 9w — uf¥aw
(D) ST — qd
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Q11 Select the option that is related to figure (C)
in the same way as figure (B) is related to
figure (A).

Ao Fp I
*gl'ad ¢ O

Al (i1 (c)

(A)

H

(B)

(©)

¢ |= O
O ©0 [O& 00O

(D)

TR
o)

Q12 ldentify the odd word.

| Square, Triangle, Rhombus, Sphere,
Parallelogram, Rectangle, Circle, Pentagon,
- Hexagon
(A) Trangle
! (B) Sphere
(C) Circle
(D) Hexagon

LM-B

Q11 78 Rwey g+, Rrwat sl (C) & wy

Q12

&t ) Wy & S gl (B) w0

JTH (A) & | &)

Aol [kp]..[00,
*# A ¢d4 & o
(A} (Bl ic

(A)

Al <
O

(B)

'

(D)

o

)
ool lool |o & |o

fawm w6t vgEE N

3, By, wrad, e, R
o, AT, e, T, eI
(A) P

(B) T

(C) gu

(D) qE&H
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Q13  The list given below contains figures which Q13 e @ g gt F O aeferdt sftnfer

have something in common. ¥ o Safear IILHIT'FUj 2
E}“Hdﬂﬂ Cubcrici_.‘iphcn:. Prism, le'ﬂﬂ'lll-d QF[ HATH, ’_:.TL"T. fﬂgq ﬁrﬂﬁq?; 0+
Cube

A fav e et § 9, 9w Re @)
From the below given options, identify the e &Y foe 29 ﬁ-tﬁ THM S wIOH

one that can be classified as part of this list. ‘_; aiiiga far o wem &)
(A) Rhombus (A) wHEPW

(B) Cone (B) #i®

(C) Square (C) @it

(D) Parallelogram (D) wHieR wpfa

Q14  Study the Venn diagram given below and Q14 =g f2d 71y 49 amieg &7 aengs &Y afv
identify which option is comect with reference gggr [ @ a1 Aoy amyem & w1
to the diagram. A B |

qef)

Aeroplane qrAT
(A) Some birds are not acroplane. (A) | el aga= 8 8
(B) Allaeroplanes are birds. (B) ¥ argar el 81
(C) Allbirdscan fly. ©€) W wh I8 wad &
(D) Some aeroplanes can fly. (D) T© TYAF I§ |HA B |
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BIARTCUA

Q15 Two positions of a dice are shown below. If Q15 U@yl @ 57 Rerfert i qufdt o & EYiE

number 6 is exactly opposite to number 3, aft e 6, Wem 3@ dw faada &, & ho deried
then which number is exactly opposite to e 2 @ O faudla @ @ Wem .
number 27 BrfY?
-2 /| J/

(A) 1 (A) |

(B) 4 (B) 4

© 5 ©) 5

(D) 6 (D) 6

Q16 Inthe figure depicted below, if the pentagon Q16 #d zuid wd sl # af} denga &

is rotated anti-clockwise 270° once and the TS AR amad 270° gErET wren @ s
triangle is rotated clockwise 270° twice what fagw @ @) IR s@mad 270° garn
will be the final figure ? wiren &, &t uRenfAa sl B9 &0f?

&)

(A) (A)

(B)

(B)

©)

(©)

(D) (D)

SRCROR
SRCRORY

LM-B 9§ SERIES-B-F




Q17

QI8

Q19

Q20

Select the option that is related to the third
word in the same way as the second word is
related to the first word.

Kitchen : Refrigerator :: Bathroom : 7
(A) Television

(B) Geyser

(C) Microwave Oven

(D) Sewing Machine

In acertain coded language, if BRAKES is
written as TAGPNX and CLUTCH is
written as IBEJWR, then how will be the
word WHEELS written as in that language?
{A) TVMGFD

(B) TVNEHB

(C) XRIJHB

(D) TVNFHB

In a certain coded language, ifRAMESH is
written as TBNFT) and MITALI is written
as NIVBNJ, then how will be the word
RANBIR written as in that language?

(A) SBOCIS

(B) SCODIT

(C) TBPDIT

(D) TBPCKS

Deepika is the mother-in-law of Privanka
whose husband is the father-in-law of the wife
of Ranbir. Salman is the only son of the
husband of Deepika while Katrina is the only
daughter of the mother of Ranbir. How is
Salman related to Katrina?

(A) Husband

(B) Brother

(C) Father

(D) Grandfather

PO0LBFES

10

Q17

Q18

Q19

Q20

a8 faswen g+, Premr G e & wy
A aw @) waw B, Sm g we @
UEd ¥ B W #

g : yeies = FE : ?
(A) ceifaam

(B) ST Sre-wr ()
(C) wrgma e

(D) foerg wdi=

feh Fftaa %z s 4 afs BRAKES
® TAGPNX & w4 % forar o # afie
CLUTCH #1 IBEJWR @& wu # feran
e €, o e WHEELS &1 ffw &y ¥
formm wmgn?

(A) TVMGFD

(B) TVNEHB

(C) XRJJHB

(D) TVNFHB

ferely Ff¥ae @ W | afe RAMESH
® TBNFT) & w9 & foran wmar & afk
MITALI &1 NJVBNJ & %q ¥ fovar wmen
g, O % RANBIR & 59 wu 9 foran
TN

(A) SBOCIS

(B) SCoDIT

(C) TBPDIT

(D) TBPCKS

e, Mas @ aw & s ofly, R
@ uell @ wye §)| wemrE, e @
ufy & g@elten deT & wafs ded,
WER B A B gHee I8 2 | wowe
o Bl A T g B?

(A) dfer

(B) g

(C) foreim

(D) =m=Er
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Q21

Q22

Read the given statements and conclusions
carefully. Assuming that the information given
in the staterments is true, even if itappears to
be at variance with commonly known facts,
decide which of the given conclusions
logically follow(s) from the statements.

Statements:

1. Some lions are cats.
2. Allcats are tigers.

3. Notigerisanelephant.

4.  Allelephants are rabbits,
Conclusions:

I) Sometigersare lions.

[[) Noelephant isa lion.

[Il) Some cats are elephants.
IV) Some tigers are cats.

(A) Onlyconclusion Il follows.

(B) Onlyconclusions [ and I follow.
(C) Onlyconclusions Il and IV follow.
(D) Only conclusions [ and I'V follow.

Select the option that can replace the
question mark (7) in the following series.

.

SUPER, PSRUE, RPESU, ERUPS, 7, ?,

SUPER

(A) PSRUE
(B) UESRP
(C) EURSP
(D) USERP

LM-B

1

Q21 fau 7y werFt sl Freat @ eam @ o)
78 W §Y 5 weEl A @ ad aerd
W 8, wd & us weaa: s oeat 9
e € 3491 A 8, 75 Fvlg / & Ry
frepult # 9 2= a1/ 9 Frad of¥s wg
W PUET B FTEL e /B F

Q22

1.
2,
3. ®d W ae, weh o #y
4. Wit gef, @ &)
Fread:

N me T, fs )

m =g § eeh, fs 8 &)
) wo R, s=h &)
Iv) @ e, fafeerdr §)

(A) daa Frepd 11 e v &

B) Paa frepd 13l 10 s o
L4

(C) dae fFrspd 113w IV apewr &
gl

(D) @aet Frepd 13l 1V 36T S
¥

78 RAwe g ot R @ ™ gaa A
wefues (7) & ufoenfia & wwar #)

SUPER, PSRUE, RPESU, ERUPS, 7,
SUPER

(A) PSRUE

(B) UESRP

(C) EURSP

(D) USERP

SERIES-B-F




Q23

Q24

Q25

LM-B

Select the number that can replace the
question mark (7) in the following series.

51,44, 49, 42, 47, 40, 45, 38, ?
(A) 31
(B) 33
(©) 43
(D) 45

The ages of two friends Ramesh and Rajesh

are in theratioof 4 : 3. é

Which of the below pieces of information is 5

additionally required to answer what the

average age of Ramesh and Rajesh is?

(A) Ramesh is 10 years older than Radha
who is the younger sister of Rajesh.

(B) The age difference between Ramesh's
father and Rajesh’s mother is 8 years.

(C) 6 yearsago, the ratio of the ages of
Ramesh and Rajesh was 3 : 2.

(D) Ramesh was 12 years old when Rajesh
was in senior KG in his school.

Fivefriends A, B, C, Dand E are seated ina
row and are watching a movie. A and D are
seated at the extreme ends while B is seated
exactly in the middle.

What additional information is required to

answer who is seated next to A7

(A) Bisseated immediately next to both C
and E.

(B) Cisnotseated nexttoD.

(C) Cisseated nextto B,

(D) B isseated nexttoE.

12

Q23

Q24

025

a8 W g oft e @ e
wefE (7) #1 wftwenfia sv wad #)

31,44, 49,42, 47,40, 45,38, 7
(A) 31
(B) 33
(C) 43
(D) 45

< 3 v o YT A g 403
I A &)

11§ g P W T 59w W

o oA @ forg aiftRee w9 9 amaws

2 & vim sl ot Y sitwm oy @

114

(A) 91, T 9 10 ad 797 & o oy
A Bt quT B

(B) v & fan ofiw ey & f @ a0
31y @1 e g A B

(C) 6 qd, wrw 3R worn A Ay @1
Uiy 3:297) -

(D) wi" oty HvA e § e
.ol | oo, g v 1294 &1 n)

oig 45 A, B, C, D3R Evs ufter 4 43
£ 3R fvew 2w @ &) A3l D aifw
eRim @ Emfa s fad o &7

TE 9 o4 @ o fe afaRe o

ol amaaa 8, & AS e d 959

87

(A) B,Calw EgHl & &% @ra o dor
2l

(B) C.D® @ra W =8I &7 £

(C) C,B& anma & da1 &

(D) B,E& ae # dor 8
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SECTION-2 | GENERAL KNOWLEDGE | 50 QUESTIONS

INCORRECT?

(A) The procedure for impeachment of the
President has been described in Article
61 of the Constitution of India.

(B) Impeachment motion can be presented
in any house of the Parliament.

(C) Impeachment resolution can be passed
by a majority of not less than two-thirds
of the total membership of the House.

(D) The President could be impeached for

violation of national security.

Who was appointed as the Finance Minister
of Indiaon 31 May 20197

(A) Arun Jaitley

(B) PiyushGoyal

(C) Nirmala Sitharaman

(D) Rajnath Singh

According to a G-20 surveillance note,
prepared by IMF in June 2019, India’s
economy is expectedtogrow _______in
2019.

(A) 6.3%

(B) 7.3%

(C) 83%

(D) 9.3%

LM-B

Q26 Which of the following statements is g Q26 PR § 9 @9 | $UE T &

(A) W @ wfaur @ agwe 614
wrgufy @ Wi 6 uia &
o= fasan T &)

(B) wEPETT wwam wee @ fEe a
e # wed far o w8
(C) WEIERT W, WeA #l fe TRl
3 S-foed @ fE vgva | TRa

fapa o wwar 81

(D) rEaf 9¢ UETA e @ S @

fore wEIffrT e S wEal £

31w 2019 vRa @ RadR a3 v A
Prifafaa 9 9 59 Prgea e
o7

(A) o9 Weal

(B) 9wm e

(C) Frian Hammo

(D) e g

o 2019 3 AEUATW. (IMF) ERT Q4R
W-20 FrrE Rovl @ sar, 20194
Wi o seferaer fa o wfea 9
@ o=ig &7

(A) 63%

B) 7.3%

(C) 8.3%

(D) 9.3%
SERIES-B-F




Q29

Q30

Q31

LM-B

Mahila Shakti Kendra (MSK) under the
Umbrella Scheme Pradhan Mantri Mahila
Shashaktikaran Yojana (PMMSY) has been
approved for implementationduring .
(A) 2016-17
(B) 2018-19
(C) 2017-18

(D) 2015-16

Mahatma Gandhi was against . C
India.

(A) slow industrialisation

(B) rapid industrialisation

(C) British mode of industrialisation

(D) American mode of industrialisation

Who among the following was sworn in as

ChiefMinister of Arunachal Pradesh on 30#

May 20197
(A) Jarbom Gamlin
(B) Kalikho Pul :
(C) PemaKhandu 3
(D) Nabam Tuki

14

Q29 warHAl wiken wwfdgsyor arasn

Q30

Q31

(PMMSY) & 3o wften ofaer @
(MSK) & frafaifiaa 4 9§ fv sy &
4 srEfaa @ g agEfia R
T 87

(A) 2016-17

(B) 2018-19

(C) 2017-18

(D) 2015-16

BT Tl WRa # @ Reg 9
(A) wg shenfraiavo

(B) e aifvenfaiiaeor

(C) afenfrdrevo o faftw vefy
(D) sEhfrdteTor & aRa ugfa

frfafam # & e 30 72 2019 @
FTUTES YU B A & W9 F 19y
&9 HI?

(A) wRam fafem

(B) wferal ga

(C) W @iy,

(D) & g
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032

Q33

Q34

Which of the following cyclones badly
affected the coastal districts of Odisha in
May 20197

(A) Cyclone Sani

{(B) Cyclone Fani

(C) Cyclone Tani

(D) Cyclone Kali

Which one of the following teams won the
Indian Premier League (IPL) trophy, 2019?
(A) Kings XIPunjab

(B) Chennai Super Kings

(C) Sunrisers Hyderabad

(D) Mumbai Indians

In May 2019, the Central Government
created a new ministry by merging the
Ministry of Water Resources, River
Development and Ganga Rejuvenation and
the Ministry of Drinking Water and
Sanitation. What is the name of the new
ministry that has been formed as a result of
the merger?

(A) Ministry of Jeevan Shakti

(B) Ministry of Swachcha Ganga

(C) Ministry of Jal-Nadi Vikas

(D) Ministry of Jal Shakti

Q32

Q33

Q34

53537008

72 2019 % Fr=fafaa 4 | e o
A aifem @ v el & g0 v
warfae fasan?

(A) =TT

(B) THar Bl

(C) wmara amil

(D) Tard el

gfegs Wifmv ot (IPL) gT@Y, 2019
Frafafaa § @ fa &9 3 ofd?

(A) fama getas vaim

B) a1 g fw

(C) TAIgTH REvAE

(D) Ha% feaw

7 20197, Pg THR A T T, T4
e s M wEmE WA MR
Rrare 3 e W & Ay e
s aar dATay aqmar) fdew @
RO WY AT WA T T #
s W T 87

(A) e ofde sarea

(B) =3 T WA

(C) wra-+14) RA®r w=red

(D) wiet wfeRT wAE
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Q35

Q36

Q37

Which country conferred its highest honor,
the “Nishan Izzudeen' on Indian Prime
Minister Narendra Modi in June 20197
(A) Srilanka

(B) Maldives

(C) Nepal

(D) lsrael

is a famous 49-year-old veteran
Nepali Sherpa who scaled Mount Everest
for the 23" time in May 2019.
(A) Tenzing Sherpa
(B) KamiRita
(C) AppaSherpa
(D) Phurba Tashi

India is estimated to have produced
million tonnes of food grains (rice and
wheat) during 2018-19.

(A) 183.37

(B) 38337

(C) 28337

(D) 48337

16

Q35

Q36

Q37

O 2019 ¥, Wil wureE) adg W
® F=fafa 4 @ fsw 2w 3 a@
wdte W, P sod ) wefa
forar or?

(A) e

(B) #reigg

(C) -t

(D) zForEa

= ufhg 49 afin defpd
Tarell 9ear & Rrg i 20199 23% aw
uIge e ot ugE g @ 8

(A) <R dar

(B) »rit e

(C) 3T IRy

(D) wwar ardl

2018-19 % ¥RF AT gV B A
ffem &1 srar (e ok 4E) @
T Y T & e 8?7

(A) 18337

(B) 38337

(C) 28337

(D) 48337
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Q38

Q39

Q41

Which state produced the largest amount of
rubber in India in the year2017-18?

(A) Kerala

(B) Andhra Pradesh

(C) Odisha

(D) Kamnataka

Which of the following share s contributed
by the Agriculture and allied sector in the
India’s gross domestic products, 20197
(A) 14.39%

(B) 29.73%

(€) 15.87%

D) 31.46%

What is the child sex ratio of Uttar Pradesh
as per Census report, 20117

(A) 898

(B) 912

(C) 916

(D) 902

Which of following valleys is NOT situated
in the Himalayan Mountains?

(A) Karewas

(B) Bhagirathi

(C) Kathmandu

(D) Araku

LM-B
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Q38

Q39

Q40

2017-18 % Fr=fafa 4 9 fva o A
Wa A wad dRE W o saneq fsar
(A) B

(B) e wewr

(C) anfgar

(D) e

WG @ WHd =X, IR, 20199
af viag &= R Fol fvee wftver e
®1 APTEE W g3 87

(A) 1439%

(B) 29.73%

(C) 15.87%

(D) 31.46%

arFer R 2011 @ IR, SR @
# o e #&n 87

(A) 898

B) 912

(C) 916
(D) 902

frefafam 3 & a9 W v, Roea

ydar s # Rera 1@ 87
(A) FvarE
(B) el
(C) wiowig
(D) 3,
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Q42  Who was the first woman Governor of a state

Q43

LM-B

in Independent India?
(A) ShardaMukherjee
(B) Vijayalakshmi Pandit
(C) Margaret Alwa

(D) Sarojini Naidu

According to IMD World Competitiveness
Rankings, 2019, Indiaranked _____ in
world’s most competitive economy.

(A) 14*

(B) 24*

(C) 43+

(D) 51

Bombay Stock Exchange appointed

as its first independent woman

director in May 2019,
(A) Jayshree Vyas
(B) Jayati Ghosh
(C) Rohini Pandey
(D) Devaki Jain

LBERQL LES
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Q42 wa= 9Ra | & uon A gy st

Q43

Q44

T Fi eff?
(A) wIET Had|
(B) faorreed ufae
(C) wrive arean
(D) wAfrR g,

HE ¢AE (IMD) R ufyeget m 2019
% ER, R A wifte sRvutes
el @ qh F oAy
W urer e &)

(A) 147

®) 24°

(C) 43*

(D) 51%

T IR AR A 5§ 20190
@1 AT e e Afitar Fius @ e
A e )
(A) wasii =g
(B) wrafiy uiy
(C) Dfedf i
(D) wae S
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Q45 Which of the following keyboard shortcuts
displays the Start menu in the Windows
operating system?

(A) Cul+Z

(B) Alt+ Spacebar
(C) Ctrl+Esc

(D) Alt+Enter

Q46 Who among the following is known as the
*father of computing?
(A) Charles Babbage
(B) Tim Bemers Lee
(C) Philip Don Estridge
(D) James Gosling

Q47 Windows 10 was first released as a preview
on which of the following days?
(A) 1January 2013
(B) 12July2014
.i (C) 1 October 2014
(D) 12 December 2015

LM-B

Q45 Pt 4 2 6 o vea ay-wa
(@ @1d widwe) e vaew v
(@R ) § @ ¥ @1 i
&

(A) Curl+2Z

(B) Alt+ Spacebar
(C) Crrl +Esc
(D) Alt+ Enter

Q46 fr=fafea % 9 e afd o sgfen
& WE @ W9 § S e 87
(A) e da
B) fom o &
(€) fofery 2 oRgw
(D) o Tife=T

Q47 fadra 10 ® vga Ua W@indied & w9
# frafafaa 4 @ e e @ e
T ar?
(A) 1 9@ 2013

E (B) 12 9TE 2014

(C) | FraRE@Ev 2014
(D) 12 fawHav 2015
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Q48 Everyyear,inwhichofthe followingdistricts Q48 3R w2 & Fr=fafaa 4 & e R

of Uttar Pradesh is Bateshwar Mela 7wy o advaw da srnfore fsar e
organised? B7

(A) Kanpur (A) SR

(B) Varanasi (B) FNIvR{l

(C) Mathura (©) ==

(D) Agra D) TR

Q49 What is the suitable time of sowing the Q49 T¥ wew & iy R 3 of (wuw)

indigenous variety of cotton (kapas) in Agra Pl e e & gard @ Sugw Wy
district of Uttar Pradesh? Frfafaa 4 @ o w &7

(A) First fortnight of April (A) IiE &1 UEA TEaTg

(B) Mid-April (B) ¥fd &1 g

(C) First fortnight of May (C) #1§ & User TEare

(D) Mid-May (D) 7§ =1 ™A

Q50 AsperCensus 2011, what is the population Q50 @ 2011 @ SFIVFT B ITAR, VN

growth percentage of Uttar Pradesh? yaN A Freem o gy it war &7
(A) 2021% (A) 2021%
(B) 20.23% (B) 20.23%
(C) 2030% a (C) 2030%
(D) 20.32% (D) 2032%

Q51  Inwhich ofthe followingdistricts of Uttar Q51 SR Waw & Freifaiftaa § @ frm Rt

Pradesh is the Union Government's opium W #g WaR B AP 6 P Rea
factory located? 8?7

(A) Varanasi (A) armrE

(B) Ghazipur (B) TSR

(C) Ballia (C) afern

(D) Kanpur ) wrgR
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Q52 In which of the following cities of Uttar

Q53

Q54

Pradesh is Modern Coach Factory, a rail
coach manufacturing unit of the Indian
Railways, located?

(A) Raebareli

(B) Mughalsarai

(C) Prayagraj (Allahabad )

(D) Lucknow

Kashi is a famous Indian pilgrimage centre
situated in Uttar Pradesh. It is located on
thebanksofthe  river.

(A) Gomti

(B) Saryu

(C) Yamuna

(D) Ganga

In which of the following cities of Uttar
Pradesh is the Government College of Arts
and Crafts located?

(A) Lucknow

(B) Kanpur

(C) Varanasi

(D) Gorakhpur

LM-B
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Q52 R weu & freforfaa # 9 fow wev A

Q53

Q54

Rl ¥a A @ i 5o, amfe
et rm dag (e @ dag) e &7
(A) TrFael

(B) Freravd

(C) WA (§ETEIS)

(D) oET%h

o wa ¥ fera @l va witg wedE
def @7 # | g8 Frafefaa % @ e T
@ e w fua 27

(A) el

B) ¥

(C) Fg

(D) T

we waw @ Prefafad 4 @ fow wee i
Rt el ga Ricd wefiqae (Taie
Fiera aifw andw e Hwew) Rew 87
(A) TS

(B) T

(C) awmmd

(D) gy
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Q55

Q56

Q57

Lucknow in Uttar Pradesh is famous for
which of the following handloom production
centres?

(A) Khari printing

(B) Saris

(C) Chikan work

(D) Brocade fabric

Firozabad, a city in Uttar Pradesh, is famous
for which of the following industries?

(A) Saris

(B) Cement

(C) Glass

(D) Locks

Who among the following did NOT provide
assistance to the British in suppressing the
revolt of 18577

(A) Scindiaof Gwalior

(B) Begum Hazrat Mahal of Awadh

(C) Nizam of Hyderabad

(D) Sikander Begum of Bhopal

5296301
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Q55

Q56

Q57

TTR WO BT @ R et
W 59 suaww (Feqw) Swred i @
fore wftg &7

(A) @<t fifer

(B) WSt

(C) Feree s

(D) W™ & oS

ST Yow o vEw e, i
i ¥ fo wE @ e wRig 82

(A) W

B) e

(C) ®ra

(D) T

Fefelad 4 @ e 1857 9 Rk @1
<A & fory it o were werE T8
B1?

(A) Taifeaw & fhferar

(B) 3r@a @ 47 goia e

(C) B @ Fam

(D) ¥imrer 3 fiwew
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Q58

Q59

Q60

Q61

The decision to effect the Partition of Bengal
was announced by the Government of British
Indiaon

(A) 7August 1905

(B) 19July 1905

(C) 16 October 1905

(D) | September 1905

Who was the leader of the Ghadar
Movement?

(A) HarDayal

(B) BhagatSingh

(C) Madam Cama

(D) Shyamji Krishna Verma

Who started the Mahad Satyagraha in
Maharashtra in 19277

(A) Mahatma Gandhi

(B) Sardar Vallabhbhai Patel

(C) Dr.BR Ambedkar

(D) Jyotiba Phule

Which of the following Acts was based on
the Montagu-Chelmsford Report?

(A) GovernmentoflndiaAct, 1892

(B) Governmentof India Act, 1909

(C) Government of India Act, 1919

(D) Government of India Act, 1935

LM-B
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Q58

Q60

Q61

fafey v WRER A @ @ fanoE @
L e & vl @ emon w9 # o7
(A) 7 3 1905

(B) 199 1905
(C) 16 IraRgay 1905
(D) 1 fEeE 1905

1927 ¥, #EnTS: § #Ee wAnE fhe
e b en?

(A) wET TEdl

(B) WYER oo iTs T

(C) i 41 IR, sfEEHT

(D) wHftyar B

ffefaa & | @t W wftfras
AleTy—Tranie RUE w s ar?
(A) W TwaR AR, 1892

(B) wwa wweR afafgm, 1909

(C) W wvaHR e, 1919

(D) \a AR afefram, 1935
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Q62

Q63

Q64

LM-B

When did the Muslim League join the interim
government under the leadership of
Jawaharlal Nehru?

(A) 2 September 1946

(B) 14 September 1946

(C) 24 October 1946

(D) 14 November 1946

Who was the chair’man of Boundary
Commission for India and Pakistan which
was announced by Lord Mountbatten in
19472

{A) Lord Curzon

(B) Lord Wavell

(C) ClementAttlee

(D) Cyril Radeliffe

The latitudinal extentof Indiais from
north.

(A) 8°2':37°4°

(B) 8°4’;37°¢

(C) 87,319

(D) 8°3';37°5°

northto

Which one of the following rivers does NOT
fall in the Gulf of Khambhat?

(A) Mahi

(B) Sabarmati

(C) Koyna

(D) Tapi

24

Q62

Q63

Q64

Q65

TATEYeIe 8% @ Aged 3 gRem o,
il wWaR % wa wifea gd A2
(A) 2 Fiiav 1946

(B) 14 feaw 1946

(C) 24 3rawgan 1946

(D) 14 7d9% 1946

1947 % @i wgedes g Bt W
3R e & foy dmm amgm @
JEET DI &7

(A) =itS Buf

(B) e dde

(C) eitie Yeel

D) fofa Yefeems

AT F g AR S 9
U GF 2|

(A) 8°2°;37°4°

(B) 8°4’;37°6’

(©) 87 ;37°9

(D) 8°3°;37°5°

fFA=fafed 4 4 a9 @ 78 @ &
wrsl 7 e ferh 87

(A) wra

(B) &l

(C) B

(D) Y
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Q66

Q67

Q68

Q69

Which is the highest point of the Meghalaya
Plateau?

(A) Khasi-Jaintia Hills
(B) GaroHills

(C) MikirHills

(D) Shillong Peak

As per census report of 2011, which of the
following states does NOT have tribal
population?

(A) Haryana

(B) Goa

(C) Guijarat

(D) Bihar

The Bhutia tribe, widely known for their
traditional grandeur, art and cuisine are found
in state.

(A) Sikkim

(B) Nagaland

(C) Arunachal Pradesh

(D) Tripura

Which one of the following states has the
highest population density according to the
2011 Census report?

(A) West Bengal

(B) Kerala

(C) Uttar Pradesh

(D) Bihar

LM-B
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Q66

Q67

Q68

Q69

25

AU YOI B HEW S G B W@
14

(A) ERi—rifar eyt

(B) TR umifedt

(©) ffpe weifet

(D) Rrewr =i

2011 @t wor RUE & SR,
Frafaftaa % | 5w wou 4 swond
S e &7

 (A) sRamr

®) ar ¥

(C) Torm &
(D) fasm #

yfean wenfa, Wi sl aRuRe e,
el it H—dell @ 7 e w9 @
St SRl 8, e v F urd ol 87
(A) Fufawn 4

B) Armes ¥

(C) Ivomad waw &

) Prgwr ¥

2011 & S ROiE @ oW,
Frfofa % 9w wow § oeven
e waiRs 87

(A) uR¥aw ama

(B) W¥et

(C) S°R waw

D)
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Q70

Q71

Q72

LM-B

Which region in Andhra Pradesh is actively
engaged in the production of petroleum?
(A) Mahanadi Basin

(B) Krishna Godavari Basin

(C) Warmada Basin

(D) Cauvery Basin

Mount Elbrus, one of the highest peaks in
Europe, issituatedin .

(A) Germany

(B) Switzerland

(C) Russia

(D) Ukraine

Which article of the Constitution of India
deals with *equality before law’?

(A) 14

B) 13

(©) 17

(D) 26

53136301
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Q70 ama wawr o Freafafea § @ o9 wr éx
Wiy w0 | Igiferm & IerEd 99l
27

(A) e AR

(B) Fom MEEd af

(C) a1 dfEm

(D) Y 4

Q71

R & e gde Rrast # 9 v Aee
oA el e @7

(A) TP

(B) Racurets

(C) &

(D) b

Q72 wrd w@feE & Aefafeg § 8@ o9

w1 s fales awar ar s @

A TAFTT | HEg 87
(A) 14
(B) 13
(©) 17
D) 26
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Q73 Provisions regarding the promotion of

Q74

Q75

international peace and security are outlined
as a part of of the Constitution of
India.

(A) Fundamental Rights

(B) Directive Principles of State Policy

(C) Fundamental Duties

(D) The States

Who is the appointing authority of the

Governor of a State in India?

{A) Prime Ministerof India

(B) Chief Minister of the concerned state
(C) The President of India
(D) The Central Cabinet headed by the

Prime Minister of India

Who was appointed as the National Security
Advisor of Indiaon 31 May 20197

(A) MK Narayanan

(B) Brajesh Mishra

(C) AjitDoval

(D) JN Dixit

LM-B

53378381
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Q73

Q74

Q75

SICTRIST 0ify 3 e &) agmar <3 9
waferm yraumm, wrd d@fas 8
fifafaa # @ fses v wmr @ W ¥
afeafid &7

(A) #ifers siftrsr

(B) ¥=1 & Hfa Fdwew fagi

(C) #iferw wcfe

(D) wroui

W i @ v @ o @ fgfi

wifeEr Freafefaa 4 @ i s 22

(A) 9Id & W

(B) wafere woa & wepiE

(C) WRa & weufe

(D) R & LA 3 ajeasmen # ey
LIELEE

31 7§ 2019 @ ARG @ U g
HeAEd R & W9 A 50 Fyga fear man
qr?

(A) UH.E, AR

(B) #otyr i

(C) i S

(D) Wve. diféa
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Q76

Q77

Q78

Q79

LM-B

SECTION-3 | GENERAL SCIENCE /ARITHMETIC | 50 QUESTIONS

Atap can fill atank in 8 h. After half of the
tank is filled, four more similar taps are
opened. What is the total time taken to fill
the tank completely?

(A) 4h46 min

(B) 4h48min

(C) 4h38min

(D) 4h30min

01-01-2012 was a Sunday. What day of
the week was on 01-01-20137

(A) Tuesday

(B) Wednesday

(C) Thursday

(D) Friday

Read the following statements and select the
correct option,

1. In60 min, the minute hand gains
55 min on the hour hand.

2. Aclock is started at noon. The angle
traced by the hour hand in
5h 10 min=150°,

(A) Only statement | istrue
(B) Only statement 2 is true
(C) Both the statements are false.
(D) Both the statements are true.

Inatriangle ABC, if £ A=90° then:
(A) SinA=SinB

(B) SinA=—SinB

(C) SinA=CosB

(D) SinA=—CosB

53016391
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Q76

Q77

Q78

Q79

e Tl 8 HE W UH S DY W Haehl © |
I € W W B 918, Ul FON D
IR R FHE A Gl Wi & | @ 3
uofe: WA d ga fe W ee?
(A) 452 46 fiFe

(B) 4 u2 48 fire

(C) 4% 38 fame

(D) 4 %2 30 F=e

fe=tian 01-01-2012 &1 YRaR | R
01-01-2013 Y \amE & o | fas ar?
(A) #Terar

(B) g=aR

(C) TPaR

(D) Ihar

fr=feiflaa FuEt %1 g 3l w e
|

l. 60 firre ¥, firre @ g8 ¢ 9 4
¥ 55 fime amt &6 2

2. TS HE SIUEY & WHY AR @

. o &1 5HE 10 e § 6 Y g2
ERT TR AT 97 150° % |

(A) Had due | 94 2
(B) @ad HUF 2HA B
(C) =T FU= W £
(D) THt T ¥ T

@ ABCH afz £A=90° 2, o wél
faeeg 7+ |

(A) SinA=SinB

(B) SinA=—SinB

(C) SinA=CosB

(D) SinA=—CosB
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QB0 Ifx* — 3x+ 1 =0, then the value of Q80 /L -3x+1=0% a2+ x + (1x) +

X4 x+(1/x) + (1) will be: (1/x%) &1 99 a1 8h?
(A) 7 (A) 7
(B) 8 (B) 8
(€) 9 (€) 9
D) 10 (D) 10
Q81 Angles A, B and C of a triangle are in Q81 f&ll Bryw @ @ @ A, B alvw C
arithmetic progression. AM is perpendicular iR At # & 3N AM, BC & o aq
to BC. Find the value of BM/AB. & | BM/AB &1 5 @1 81m?
(A) 1/4 (A) 1/4
(B) 13 B) 173
(C) 12 () 12
(D) 3/4 (D) 3/4
Q82 10 is the mean of a set of 6 observations % Q82 6 WEvil & W= BT WA 10 & 3R 4
and 5 isthe mean of a set of 4 observations, Nt @ wHem @ A S5 & b
The mean of the combined set is: Tl &1 A g4y 86
(A) 7.5 (A) 75
(B) 8 (B) 8
(C) 8.5 (C) 8.5
D) 9 D) 9
Q83 If20%ofA=0350fB= % of C, then Q83 AT AFT 20%=BH 035=CaH % g,
A:B:Cisequalto: o A:B: Cfousd wagey gmm?
(A) 14:8:7 (A) 14:8:7
(B) 12:8:7 (B) 12:8:7
(C) 11:6:5 (C) 11:6:5
D) 13:8:5 (D) 13:8:5
Q84 15 litres of a mixture of milk and water QB4 15 eiiex qu 3R W/t & fsyor 3 5% el
contains 5% water. How much pure milk 21 2% W e s ure Fe @ R
should be mixed with it to get a mixture sl fvae /g u Femn s enfee?
containing 2% water? (A) 20.5 oiex
(A) 20.5 litres (B) 21diex
(B) 21litres (C) 21.5ex
(C) 21.5 litres (D) 225X
(D) 22.5 litres
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Q85

086

Q87

LM-B

A and B together can complete a task in 9
days, whereas B and C together can

complete it in 15 days. All three can

.complete the task in 6 days. In how many

days will A and C together complete the

task?

|
(A) ﬁ;
(B) 6

Cﬁi
© 6=

(D) ﬁi
7

Two pipes, A and B, can fill a cistern in 36

min and 45 min respectively. Both the pipes

are opened together in the cistemn. After how

much time should A be closed so that the

tank is full in 25 min?

(A) 13min

(B) 14min

(C) 15min

(D) 16min

Ifa*+ b =a then a® + b®is equal to :
(A) 0

(B) 1

(C) @+ b

(D) a*b + al?

LBTBEEED

30

Q85

Q86

Q87

A 3 B fiaas & o 9 &A1 5 qof @
#dhd 8, Wafs B3R C fasw 390 15
fa=it % got @ wen &) GE s Wy
e w6 faT 4 qof & | 1 A
de C yw wer fasy 98 orf e
fat # ot adar?

I
(A) 65
(B) 6

C) 6=
(©) 65

3
D) 65

7
a1 UET AR B Us @s (fawed) &)
wmAe: 36 firTe ailv 45 fise 9 e wad
€| g7 a1 uigdl @1 g8 (Rres) § 1@
IR WET e 8 | A @1 et awg g
95 fan s ey 6 @s (Rved) 25
firre # W w?

(A) 13 fame

(B) 14 fi1e

(C) 15 e

(D) 16 fime

WM a+b=a 8 A+ b FHD
e BT

(A) O

B) 1

(C) @+ ¥

(D) a'b + ab?
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Q88

Q89

Q90

Q91

Which of the following organisms is a
colonial form?

(A) Amoeba

(B) Chlamydomonas

(C) Polysiphonia

(D) Volvox

Identify the INCORRECT statement about

class insecta from the options given below.

(A) Ithas three pairs of legs.

(B) Ithas joined legs.

(C) Ithas one pair of legs in each body
segment.

(D) Ithas legs present in thoracic segments.

Ultra filtration and reabsorption process
takes place during the:

(A) circulation ofblood in vessels

(B) transport of gases through blood

(C) excretion and urine formation

(D) exchange of gases during respiration

How much percentage of fresh water is
available on earth?

(A) 30%

(B) 03%

(€) 0.3%

(D) 0.17%

LM-B
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Q88 F=ifcrieae % 9 & wr oifg va g

Q89

Q90

Qo1

H WEY § e &7
(A) 3rmEn

(B) FeiHgammmN
(C) dfehfRpiferan
(D) dfcraia

e few v e | 9 aif g9 (@)

& WeW 3 oa FUF B usaE &Y

(A) g8 7 9 4% g e #)

(B) &7 U¥ amww # o B &

(C) 7% Uil TRR—Es § 1@ A
v B €|

(D) &% ey @l i v faemm
REd B

3ifer Fede SR graraeimer ufisar fe

R B 27

(A) aiferl i Yo WaR & SR

(B) v & Wz ¥ 9l & qftass &
kiG]

(C) worarT 3N g7 fomfor & S

(D) @91 & ENF TEl B AEH-TH
H N

gt o¥ faem uftrer aran we auee
87

(A) 30%

(B) 03%

(C) 0.3%

D) 0.17%
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Q93

Which of the following does NOT contribute
to the pollution in water body?

(A) Heavymetal

(B) Ozone

(C) Microplstics
(D) Pesticide

Which of the following is NOT a greenhouse
gas?

(A) Water vapour

(B) Nitrous oxide

(C) Ozone

(D) Carbon monoxide

Methyl orange indicator changes its colour
at which pH value range?

(A) 3.1-44

B) 1.0-3.1

(C) 44-58

D) 58-17.0

Pharma vision 2020 is a programme to

develop Indiaas leader in:

(A) Drugmanufacturing

(B) Pharmaceutical research

(C) Providing human resource in
pharmaceuticals

(D) Drugdiscovery

Inwhich year Capt. Rakesh Sharma travelled
to space in a Soviet space programme?
(A) 1981 :

(B) 1982

(C) 1983

(D) 1984
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Q92

Q93

Q96

frafafes 4 @ w1, wieg Foem #
BFaTel TguY 3 ANTeT waE e svar
(A) NI &g

(B) 3

(C) WEmrenRean

(D) Bl

fFr=faflea 1 | @ v d9Erew 9
el 8?7

(A) et ar

(B) IEgH ifeags

(C) 3N

(D) T A RiTaES

flenge oiife Waae faw pH M A
TR 91 0T geoiar &7

(A) 3.1-44

®) 1.0-3.1

(C) 44—58

(D) 5.8-7.0

W @9 2020 wwa @ faed sy
w1 A el F9 o1 e FriEE 87
(A) 3y Fmfo

(B) afmfey argHE

(C) ahufdyaf % wFa HERA UeE S
(D) 3l & @

e Wb w3 et v AR
aiaRer wrims W afofey &1 T 6 o7
(A) 1981
(B) 1982

(C) 1983

(D) 1984
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Q97 The Goiter disease is caused due to the w097 HET (Tiigex) 71 fFad arcafrgar &

hypofunction of:
(A) thyroid
(B) parathyroid
(C) thymus
(D) pituitary

Q98 The working principle of a transformer is:
(A) Self-induction
(B) Mutual induction
(C) Electromagnetic induction
(D) LorentzLaw

Q99 The wave nature of electrons was first
experimentally established by:
(A) Photoelectric effect
(B) Double slitexperiment
(C) Davisson and Germer experiment
(D) Compton effect

Q100 Which is the causal organism of small pox?
(A) Rubellavirus
(B) Variola virus
(C) Ebolavirus
(D) Cytomegalo virus

Q101 The peptide bond is formed between:
(A) Amino group and hydroxyl group
(B) Two hydroxyl groups
(C) Amino groupand carboxyl group
(D) Amino group and carbonyl group

Q102 Sickle cell anemia is caused due to the:
(A) deficiency of folic acid
(B) Abnormal levels of hasmoglobin
(C) deficiency of iron
(D) production of less number of RBCs

LM-B

FRU BT 87

(A) g T (amaRigs) &
B) Sua ufer (eemaitss) A
(C) g Ui (argw) o
(D) gy T (FRreges) =i

Q98 uRads (giwwrR) fra fagia w
e 87
(A) W
(B) URERE o
(C) fagga—gmaaia wm
(D) it &1 Fraw

Q99 gerafAl ot TN R B yrafe v @
ugell 4 fhasd gwr fag s an ar?
(A) were fagga wam gry
B) fe—rafon (saa Ree) wam g™
(C) sfaw alr wolv v gmr
(D) T w9E gNT

Q100 9% (Wife dfew) &1 WTHRE g B
o oa?
(A) wda faum
(B) e R
(C) wArem faumyg
(D) wEerETEr fumy

Q101 YeEe 9y & Ao frws frg g &7
(A) AT wE SiR engifewe wiE
(B) = sE@iaas WiE
(C) T w9 oiR el wE
(D) T a9 iR FEife wE

Q102 Eftgr =if¥reT vaareaar (Risa 9w
uAfan) fas s g &2
(A) wifers sra & =0 & FRO
(B) eI & MR TRl @ SR
(C) &5 & &% & FRoT
(D) e SRRl @ Safy (Emd)
# TR & PRI
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Q103

Q104

Q105

Q106

LM-B

The protein component of food diet is mainly

responsible for:

(A) energyonly

(B) energy and growth
(C) growthand repair
(D) growthonly

The Indian Institute of Chemical Technology
is situated in:

(A) Ahmedabad

(B) Prayagraj(Allahabad)

(C) Hyderabad

(D) Kolkata

Which of the following microorganisms
causes dysentery”?

(A) Salmonella

(B) Shigella

(C) Leishmania

(D) Plasmodium

The study of all the factors that are

responsible for the appearance of a particular
disease is called:

(A) Aetiology

(B) Epidemic

(C) Endemic

(D) Epidemiology

53457008
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Q103 BN W9 AER & WEH "ed e

wq 9 s ferg aoverd §7
(A) Fae Hul @ ferg

(B) &t s afg & fo
(C) af o wowm & fog
(D) @ gfE & fay

Q104 Wl Twafye drenfiad s (fea=

FIeye e afsa SHidn) FEl
fRera 87

(A) ¥EwEETS

(B) WATRTS (SeITETEIS)

(C) &avmmg

(D) e

Q105 warfgsr (W) Prefafm A aa= |

g @ BReT g &7
(A) eI

®) Rren

(C) ererdfrn

(D) Tt

Q106 T WA W] BT LT TT FEAT &

ol we s ¥ @ e @ forg aevar
B #?

(A) vfearsion

(B) vfusfis

(C) ySfim

(D) vfrfaETon
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Q107 Why is immunisation against common cold

NOT very effective?

(A) No vaccine against common cold has
been developed.

(B) Common cold occurs due to climatic
conditions.

(C) A large number of strains of thinovirus
is present thereby making immunisation
ineffective.

(D) The causal organism for commeon cold
has not been identified till now.

Q108 The Nobel Prize for 2018 in the area of

Physics has been awarded for the work in
the area of:

(A) Laser physics

(B) Black hole

(C) Magnetic resonance

(D) Gravitational wave

Q109 Which of the following food items would have

highest per-gram calorific value?
(A) Ghee
(B) Maize
(C) Rice
(D) Meat

Q110 Ultrasound waves are NOT used for which

ofthe following purposes?

(A) Tolocate its prey by a bat

(B) Toknow the depth of sea bed by a ship

(C) Todiagnose defect in internal organs
of human body

(D) Todetect acroplane in any air space
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Q107 Wi wal-g&m & fivog Srwmwm

s wardr ot S e 27

(A) W wE-gam @ frog F1F 6
e s 18t fasar rar 2

(B) WM \I—gam Soary aRRfefi
& DR BT &

(€) & 9t % wEEEw & R
W e e & ot S
&1 AT T o &

(D) W wei—gam & oy Jrare
oia @ gEd o T T gd B

Q108 Wit & & # 2018 BT F¥a [WdR

fr=felaa # ¥ few & 4 fvy 0 o0
& forg far ar 22

(A) s W & farg

(B) =% 8 & g

(C) Yaoa I & farg

(D) TR T @ fg

Q109 Fr=fafias # 9 fbw wrer yapl § g=gaq

wier am dar 7/ gy 27
(A) Hr ¥

(B) #apT ¥

(C) gmaa o

(D) Afe %

Q110 Freifofaa % ¥ e sgwa & frw wmre

W (Sregrards de8) &1 T T8y

T 87

(A) TITES g a1+ R &1 uar
T

(B) S-TId gRT W% O 78 &) TENE
ST YT

(C) w1 R & JfaR® 3 # i &1
e @

(D) @ & A IR @1 g ST
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Q111

Q112

Q113

Q114

Identify the INCORRECT statement about

water cycle from the options given below.

(A) Evaporation of water facilitates cloud
formation.

(B) Water vapour comes in atmosphere
through transpiration only.

(C) Melting of snow is a part of water cycle.

(D) Sunlight isalso responsible for

evaporation of water.

Count of coliform bacteria provides an idea

of

(A) E. coliinfection in blood

(B) presence of E. coli in intestine

(C) microbial contamination in river water

(D) microbial contamination in packaged
food

Solve the following,

42 —2(25+16 2 4x3 -4 x ) +5=7
(A) -5

(B) 4

(C) -4

(D) 5

If 1.5a =0.25 , then fimd the value of
(3a-5b) 4

(3a+5b) 27°

(A) 1

B) -1

(C) 2

D) -2

S2GOT008
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Q111 i fay wy fawedi # & e @9 &

e #§ AT FF B UEEH T

(A) Wi & amfieeor § grear &1 i
BT B

(B) T a1 Had arIcHaT & ARgH
| & anpew ¥ amh 2

(C) % &1 frae= Wi 7@ & & a7
2l

(D) et & amsfievr & fog s @
weprer ot STRET Bl § |

Q112 ®ieieid iRt & wen frafafaa

i ¥ frws an # U A HEE S
87

(A) Y@ # § Fiong o1 Heol

(B) = ¥ ¥ ey o Sufdy

(C) & & Wl | [eHiIdl WguT

(D) feamg wia= # GesTolid! deaor

F=fefiaa & ga &)

42 _2(25+16 + 4 x 3 -4 x ) +5=1
(A) -5
®) 4
©) -4
©) 5

Q114 A 154=02p 8 W@

Ba-3b) 4 o aqm @r Bv?
(3a+5b) 27

(A) 1
B) -1
©) 2
(D) -2
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Q115

Q116

Q117

The product of the LCM and HCF of two
positive numbers is 72 and the difference
between these numbers is 6. The sum of the
numbers is:

(A) 6

(B) 12

(C) 18

D) 24

Solve the following.

236-3.05+433="
(A) 364
B) 334
©) 344
(D) 333

If8'2 x 647 x 40* x 25" = 40°,
then what will be the value of a?
(A) 05

(B) 0.7

(C) 09

D) 1

Q118 By which ofthe following largest number

should 2270, 3739 and 6677 be divided to
obtain the same remainder in each case?
(A) 1459

(B) 1469

(C) 1479

(D) 1489

LM-B
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QI15 & g HemRll & S FHadS

(LCM) 3iIY #ew™ wamads® (HCF) &1
TS 72 8 3R 39 wegeli § 6 @
IR €| Wi B AT w4 B
(A) 6

B) 12

(C) 18

(D) 24

Q116 F=fofEa &) ga &4

236-3.05+433="2
(A) 364
B) 334
(C) 344
(D) 333

Q117 afF 82 5 647« 40* x 25" =40°2, T g

@1 A T BRI
(A) 0.5

(B) 0.7

(C) 0.9

D) 1

Q118 wdw Refer # wwgen 99 wra & 3

forg wemil 2270, 3739 3R 6677 @t
ferifeifaa & & frm o @ 2 e @
frforer fasam s =nfee?

(A) 1459

(B) 1469

(C) 1479

(D) 1489
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Q119 Xand Y are two compounds formed by the

combination of silver and copper in the ratio
of4:3 and 4 ; 7 respectively, Equal quantities
of these two compounds are melted and
mixed to form a new metal Z. Now metal Z
contains silver and copper in the ratio of:
(A) 41:33

(B) 41:36

(C) 33:41

(D) 36:41

Q120 IfRaju earns 20% more than Vijay, by what

QI21

percentage is Vijay's eaming less than that
of Raju?
(A) 25%
(B) . Y
i
(C) %u‘ Y%

20
(D) T %

A mobile was sold by two mobile sellers at
atotal gain of 45%. If the first seller sold it at
a gain of 25%, then how much gain
percentage did the second seller achieve?
(A) 20%

B) 18%

(C) 16%

(D) 14%

LM-B
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Q119 X 3w Y a1 #@ifrs & ot woer 4: 3 3R

4:7% Igurd A aid) R @ B s
¥ 7 &) g SHl Dt @ '\ e aE
& figaer & ¢ fig—ag z fAfa
o ol # | o/, s 2 ¥ =i ofv
qid &1 IR T EFTY

(A) 41:33

(B) 41:36

(C) 33:41

(D) 36:41

Q120 1f¥ w5, e | 20% st ama sifvia

el &, o Ao gwr afve ama ueg
a1 affa ama @ goren # fsas ufoma
oY 87

(A) 25%

50
B) %

40
© 5%

2o
©) T

Q121 UF AETEd, a1 AEgd Amanil 519 45%

& el T IR 491 7| 9 gse fagar
A g 25% @ @ W 440 8, o g
famar = frem wftee @t wra faman?
(A) 20%
B) 18%
(€) 16%
D) 14%
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Q122 A father and son working together can finish

a piece of work in 24 days. If, for the last 6
days, the father alone works, then the work
is finished in 26 days. In how many days
can the son alone finish the work?

(A) 72

B) 70

(C) 68

(D) 66

Q123 X, Y and Z completed a piece of work

costing ¥ 4,480. X worked for 4 days, Y
worked for 6 days and Z worked for 8 days.
If their daily wagesare intheratio5:6: 7,
how much amount will be received by X7
(A) T 800

(B) T 1,200

(C) T 2,400

(D) ¥ 3,000

Q124 A train leaves Hyderabad at 7 am and

reaches Vijayawada at 11 am. Another train
leaves Vijayawada 9 am and reaches
Hyderabad 12.30 pm. At what time would
the two trains cross each other?

(A) 9:50am

(B) 9:56am

(C) 10:02am

(D) 10:08am

Q125 Atank9m long, 4 mwide and (1/3) m deep
isdug in a field 24 m long and 14 m wide. If

earth dug out is evenly spread out over the
remaining field, the level of the field will rise
by

(A) 4.5cm

(B) 5¢m

(C) 3.5¢cm

(D) 4cm

LM-B

L L PES

39

Q122 s M 3w = e fash & @1 24

o1 # g1 &Y waa € | Afe, siftm 6 2w
fom st @l wvar & o & 26 Rt
¥ HHIT B O | g arbet faae Rt
# T QX BN HHar 87

A) 72

(B) 70

(C) 68

(D) 66

Q123 X, Y @R Z & T 4,480 &I &S00 911 U

o i far) X 4 e @t G, YA
6fe afiw 29 8 s od fopam) of®
SABI & A 5:6: 7D R A,
X @1 fee aa—afdr feh?

A) T 800

(B) 71,200

(C) 22,400

(D) T 3,000

Q124 T YISl YA€ 7 90 BavEG U TR

Al & 3R gas 11 991 Aoraarer ggad
2| U 3 Yame! fasraret 9§ g9w 9
a9 FRE Hal § el gluey 1230 79
BEvEE gl 81 qFI Yamisdr i
T 31 5 W uw e

(A) 7% 9:50'T

(B) {9% 9:56 ¢

(C) |a% 10:02 W

(D) HaE 10:08

Q12524 med AN 14 m=Ee UH & H 9m

w41, 4 m =rer 3T (1/3) m TE US @
wrar T4 & | afe @kl 18 AE @ 'm e
WY 9 9 Ea # ham @, 9 9 @
darg fral g wed?

(A) 4.5¢cm

(B) S5cm

(C) 3.5¢cm

(D) 4cm
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Q126

Q127

Q128

LM-B

SECTION-4 | GENERAL HINDI | 25 QUESTIONS

g T aren v g |
(&) g
(B) ¥
(C) wdorar
(D) Ypdorar

W uA o yr- e arem @
SETERYT #7
(A) efare
(B) Fared
(C) wraar=

(D) @y—Hara

wrag faeh an sg 1 - 9 e
@1 Ty 87

(A) msmeis

(B) ¥RERiD

(C) Twoni®

(D) Heberara®

BODLISTS
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Q129

Q130

Q131

Fr=fefaa # @ o9 @ a0 g &7

(A) 93P TP 9ga & SErl e )

(B) T 3R ) TS "I g g
4

(C) o8 Yoa & wHafal &1 el
|

(D) #Higw & =D T4 €1

W OUR, ® &g E A
AN — g @ 4g ¥ Rewa wm
H & w1 favm fFes amgn?

(A) reafdem

(B) Ffawm

(C) tgpfﬁﬂw
(D) Ao faes

‘Rl o1 B EAT-HErt &1 3ef gy |
(A) IoiE grera B

(B) & VieI-eRT B

(C) g &1 T

(D) f&=1 & 9 e
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Q132 W g 3R W ¥ T’ — i Fr=fafaa serh &1 e St
3R 14 faw T we (3o e 136 -

o1 3ref &g | _
138) & ITR © |
(A) wordl # et wE [Y wwan |
B) P U Fewr e wE R & Ry e @1 0w
(C) G TME WA | ; e 3w e B, e @ W TR
(D) AT e @ gea g AT @ gifiie 8, i of W S @& & ura
il | Y T SN fAPmEeR &1 59 wer
o ot s 3w @) SgEfee B @
Hif¥rer Heean & 3 wel 0% 99 W
QI33 "oy 0 76 . URSHARYL e e el 8, 98 39 e T ST
HE1 T 87 & @ wfr & g ey i
(A) IR TgEd IE ol T 87 39 ek H gemf
®) WY m%ﬁ%ﬁﬂﬁmlﬁmmm
: el €, afcss Il &1 37 8 W 8| 3w
il Suafe # amn @ 87 9l o & W
(SR dess g1 W 83w | orf¥fd amem
8, ael oo & zemt wur of 7 8, us
Q134 ‘G- & YETIHN B 87 e & 2 9 oF il v 8, el
(A) HfRreiremor T aﬁﬁmﬁaﬁwmﬁiﬁ
feere 8, W) T T :
(B) vy fAardh R eI
(C) e e fasrv somsncs ety w8 afte v AP
(D) SOy 9IS SO T e 8, T W &
@ H @il gy wel SEifie @ e
QI35 HR & aRT UHE B owd F it @1 59 W STeRa ST TS
2 frf 99 Jerl § oEeN B W R
T8 @i veT 8| ang § T8 offes 3
¢ SR A A S e e
(B) ORTEE RS T T w B 8, ok T
(C) &R wiweh 8 78, afes wf w=t 7, FiF wh
(D) HET D Al @ wifden ok Frafey o @ &
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Q136 FuRER TEATN &1 wyfta Wdw gfa |

Q137

LM-B

(A)
(B)
(©)
(D)

Wiae & UF I
7= 3 fraf
HRA g9 aiR oieq
e A g

TR AT T HEYT I |
(A) =¥ offgt &1 va W e Al #

(B)

©

D)

3 Wit Tmifee! 1 gwer geE
Fe1 BT 8, ol seife & a8,
afes Wt i @), @@ifes @i
Al & Tfdw i iy e &
Bl

AN ¥ R & 6 oftes &
UF AW IR A 8, 3y )
Wi BART g1 2, 2 afg o 9
deT P UK BN AT BHI
fremfter §1

3 W f e 9 sgwifea
B DI FYar & 3w ot
a@ I g9 Ao et 8, 98
TH T T AT B @ ik
el

AT F9 WfaT & o @ @
D I U DI wlear W e
Bl @8 ® U7 & 99 dad
WA 761 8, afcd IHaT 39 &
T 8, g9 Suafer ¥ ygE amr
=, oY 799 81 5 o A
g W YBR TN @ Wy
SR & gsar @ i as
aurf ¥ tEER B wWel g
A STINHA ATERYT HT 9o
T Al B H Bar § |
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Q138

Q139

53784007

Q140

TR T B AEN W qa=? fH

] B Wi # wE aren @ 87
(A) 3=

(B) wifae

(©) Faf

(D) g

g B WA B 5 gER @
FaE] 87

(A) Freagams

(B) afreayara®

(C) Fmams

(D) W HA

Tl W R S

Raa Wi W= & e e Ry fawsat

# ¥ IUgE = g |
(A) afisg=

(B) wamTa

(€) ffares

(D) SfAT
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Ql41 = & Haw # F=fafea § 4 feasr Q144 f5F Wi & S=arwy 4 gar 1% A N

‘Hfiares’ wEa 27 frpercht 8, 5 @wa &)
(A) faar-g= (A) Prgfae wr

®) Ty (B) IFTRD wv

(C) a gz (C) #hfgs v

(D) 3TIHT FETHET (D) dfea ww

Ql42 Ffaftad # & fower wart afem Q145 ‘Tww @ W=y = gmm?

ARG Torel § yaidn awverd s, (A) g9 + ™
Ry anfy Y guer @ g § g #? (B) T+
(A) w3 C) § + ™
®) wRwA D) |+ ™
(C) sfeRgET
(D) ®rfey ey S Ql46 wawd frw WA o1 wamEwwr &7
T e
Q143 Fgwr faramt & wvar 87 (B) FHERY
(A) fawf o (€) A
(B) wafig @1 (D) gfaq
(C) waw avf 1
(D) TR & Q147 "HTY AT AT O HAT — q #F Ywifea
= B 61w 87
(A) govaTaD
®) FoEmas
(C) Feugaras
(D) sifTEgaras
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Q148 ‘ST U gax 81 — aed # DA
o e favr @7
(A) 3=

(B) 3gd
(C) H=X
(D) &

Q149 ‘B9 #E H Hids gl
Ry v Wt & forg oft e 9|
(A) ¥
B) ¥
(C) wd
(D) ¥

QIS0 i fRfrufRw a4
yavg o | — Rew wm w1 3 fw
IUgT e g |
(A) =
(B) wfer
©) g
D) fawmE

52354007
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ROUGH WORK /%% &1 & faig
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830400 T

ROUGH WORK /%w o1l & faye
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Read the following Instructions carefully :

Frsifafaa Frdel «) a= @ 9@ -

1. Out of the four alternatives for cach question, only
one circle for the correct answer is to be darkened
completely with Black Ball Point Pen on the OMR
Answer Sheet. The answer once marked is not linble
lo be changed

« The candidates should ensure that the Answer Sheet

Is not folded. Do not make any stray marks on the

Answer Sheet. Do not write your Roll No. anywhere

else except in the specified space in the Answer Sheet

Handle the Test Booklet and Answer Sheet with care,

as under no circumstances (except for discrepancy in

Test Booklet), another set will be provided.

The candidates will write the correct Test Booklet
Series as given in the Test Booklet in the Attendance
Sheet,

. Each candidate must show on demand his / her Admil

Card to the Invigilator

No candidate, without special permission of the Center

Superintendent or Invigilator, should leave his / her

seal.

The candidates should not leave the Examination Hall

without handing over their Answer Sheet to the

Invigilstor on duty. Cases where a candidate has not

signed on the Attendance Shect will be deemed not to

have handed over the Answer Sheet and dealt with as
nn unfair means case,

Use ol Pencil/Electronic/Manual Caleulator is

prohibited.

The candidates arc governed by all Rules and

Regulations of the Commission with regard to their

conduct in the Examination Hall, All cases of unfair

means will be dealt with as per Rules and

Regulations of the Commission,

10. After Examination is over, cundidate has to return his
Answer Sheet to invigilator, Invigilator will hand over
the Candidate’s copy lo candidate, then only
candidate is allowed to leave the examination hall,
Candidate is only allowed 10 take Candidate’s copy of
answer sheet.

11. Candidates are not allowed to take Test Booklet with

them, They have to submit the Test Booklet to the

lavigilator after the exam,

I Vw9 @ e Re ) ar Rewt 4 9
HEl IR @ foy sl U0 AR R =E W
#ad (P M & § gf T a9 uige
U W W P G IR aifea fy o @
A T agcll T8 O Whar &)

2. el gREa o @ o s @ e

K1 I ug 9w gv g oy e |

Etﬁr&mﬂ AT ST IR TS A Peifa

S & fafe s T e

3. T YROST U4 SR 9EE @ GEd

ganT @, T 5l N ol § @aa

wdien gt # S0 @1 ore @) e uden
qRa®sT U4 9T UES Sqoel A8 sl

STTRAT |

uder gRaawr # & i when gRes @

® goemell ' afP | SRy oas A

fod |

Y8 W 9Y Wele gdem], S srades @)
39T Y49 UEE A |

Sreflerds a1 el arvrlers @ ALy ey @
fam ot wflemdt s wmm g B

. WAV B II0ES BT WU IoR IS 2T
e odemeff awn wm w8 R af
et wiemlf < aufafy oo W EwmEw
81 U Ot 7' W oo & 9 o
yA® e witerar § ik 4% sfe wwe o
HIHET AHET ST |

ufae /geracie / evrafee uRaas o
Sugrr afefa &)

qe &1 % arever @ v ofemedt s @
Wﬁﬁ@ﬁﬁmﬁmﬁuﬁa%rﬁﬁm
Al & Wl Al &1 BEer i 3
Pt & fafyast @ srrar g
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